| 2 H MR ZEE[FH] K & RNARREA L EPPLEPN ISSG[NR
Nal 9 | 1Ll o= 19.33 42 59 - |5
N5] 10 | bl HE [11/22] 3761 17.67 39.72 - |5
/e 11| Tl Ef [2/21] 34.61 16.03 35.25 TAC | 7
LY N6 | 11 |38 FiKFE[8/30] 36.19 16.40 35.65 TAD [ 7
1| 12 | FK DE | 2/6 [ 30.03 14.22 30.30 - |10
M5 10| = X [1/17] 38.51 17.73 38.67 - | 6
B /el 11 [ L X 16.71 37.57 - |5
2| 13 [ WEA| 2/6 | 28.80 13.25 28.77 — 9
200mBR | Z [E2| 16 | 3738 Z#0[2/21] 23251 [ 3595 [ 1.15.18 | 15514 | 2.3551 [ JMA | 10
M4 9 | FRE 0E|2/6 | 4946 23.85 51.19 - | 2
el 11 | B &% [2/21] 35.10 17.34 35.77 TAC | 8
1| 12 | &8 F3 [11/22] 3481 16.33 33.80 - [ 8
h2| 13 | )k5F FE [2/21] 29.16 14.31 30.21 - [10
50mBA N3] 8 | #EHE Bz |2/21] 4554 22.08 4549 = | 1
5| 10 | =& 1&{5 [2/21] 34.26 16.44 34.26 JBA [ 10
B /5] 10 [ =i FEKX|2/6]| 4261 20.28 4209 - | 5
th1| 12 [#R)1 EKER| 2/6 | 3157 15.03 31.05 - [10
h1] 12 | #8F sk#0 | 2/6 | 3559 17.46 35.22 - | 6
Z (1|12 AR # [1/17] 21905 | 3155 1.06.46 | 14313 | 2.1820 | JBA| 9
200mFR [ g 1] 12 BAx $H% [ 2/7] 22283 [ 33.17 1.09.62 | 1.46.05 [ 2.20.41 - |8
fd3| 14 [ ER BE [ 2/7] 20510 2950 [ 1.0201 | 13523 | 20625 [ - [ 8
Nal 10 | gl 2/6 | 24814 [ 36.90 12143 | 21152 | 25129 [ JUBA[ 9
h1| 12 [ 1U3E {58 |5/19] 25878 | 33.59 1.18.53 | 2.06.58 | 2.46.87 - 7
200mIM | % [ FR1 | 12 [ FK 02 |6/16] 24117 | 32.28 1.1395 | 20299 [ 23693 | - [ 9
d1 | 12 | Bl F=[2/6] 25198 3645 1.2266 | 21635 | 25289 | - [ 6
3| 14 | 5kH #£Z [9/29[(2.3048)| 3134 | 1.08.73 | 151.17 | 22356 [ JMA [ 10
33.60 1.09.32 | 1.4551 [ 2.21.77
s i 25812 | 3.35.02 | 4.11.80 | 4.48.40
800mFR | 3 | h3| 14 | fRH 1L 52499 | 60147 | 63795 | 71454 | JBA| 9
75121 | 8.27.08 | 9.03.70 | 9.37.82
5 el 11 [F B4 [11/229] 12539 | 16.12 36.27 58.26 12168 [ - | 6
100mFLY 03] 14 [ E E£F [10/31] 10786 | 1458 31.57 49.73 10803 | - | 8
5B (h2] 13 (WA WMEA| 2/7] 1.06.14 | 13.38 29.82 46.87 10439 | - | 8
6| 11 | %% fEx | 2/7] 1.1557 | 18.06 38.02 58.69 1.1855 [ TAC| 7
Z |h2| 13| x5 Fx | 2/7[10478] 1513 31.94 49.66 1.06.38 [ JMA [ 10
100mBA =1] 16 | /NE F8E [8/30] 11153 1595 34.40 52.56 11162 [ - [ 7
N5 10 | BA& &G [11/22] 11771 1734 36.58 56.09 1.15.30 | JBA [ 10
B 1] 12 [#)1 EXBER[ 2/7] 1.0826 [ 15.62 32.64 49.91 10732 | - 10
=3 17 | #¥F KJr|2/7| 57.06 13.38 27.87 4281 5757 [ JMA| 9
100mBR R 1/AN6 | 11 453 @ETy|1/17] 1.29.15 [ 19.51 4253 1.06.51 | 1.30.96 [ TAD | 6
Bl/h5] 10 B BE|3/7[01.3335] 19.16 42.36 1.06.19 | 13101 [ TAD]| 8
M4l 9 | ILiR ¥E 17.87 3925 | 10235 [ 12643 | - |5
N4l 10 | gi)il FME |2/21] 11034 | 15.66 33.27 52.09 1.10.80 | JBA | 9
N5] 10 | X& ILUA 19.79 41.95 10590 | 12776 | - | 3
4 [/N5] 10 | B 4% [2/21] 11399 | 1662 35.20 54,76 1.1484 [ TAD | 7
I EREIE S 18.38 39.30 58.51 11965 [ - [ 6
1] 12 |l FEF 18.66 40.48 1.02.34 | 1.26.23 — 1
1| 12 | Al F2 [1/17] 1.10.13 | 14.84 32.70 50.19 10790 | - [ 8
100mFR h3| 14 | A EF |[11/1] 1.06.07 [ 1531 32.38 49.86 10727 [ - | 6
N3] 8 | EA BE 19.19 41.40 1.05.91 | 1.30.13 - 7
NG| 10 | EIfF EK 18.13 38.78 10091 | 12312 | - | 4
Me| 11 | Ml i [ 2/6 [ 1.0952 [ 1558 33.58 51.41 1.0945 | TAD| 7
5|1 12 | EAX HZ [ 2/6] 1.0476 | 13.08 30.74 4843 10585 | - [ 7
b1 | 12 | AR sk#0[2/21] 1.06.54 | 15.33 31.96 49.48 10743 | - [ 7
3| 14 [Ml E—8[2/21] 10787 [ 15.17 31.86 49.35 10775 | - [ 4
h3| 15 [&ik PE—BR[8/29] (59.23) | 13.12 28.05 43.58 58.64 - [ 7
32.50 1.10.08 | 15219 [ 2.33.19
h1 12| AR 32190 | 41053 | 44934 | 52563 | JBA| °
£ e 3174 | 10833 | 14684 | 22528
400mM | % | i3 | 14 | kB £ 30801 | 35108 | 42544 | 45801 | YMA|[10
e P 33.37 1.11.65 | 153.27 | 2.33.04
®2| 16 | S8 A 31353 | 35465 | 43183 | 50670 | JBA| 9




